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SHMS Rel. Yield vs Rate
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Q?=3.0,W=3.14

E=82GeV

P s = 6-053
O s = 6910
P = -1.821

O,y = 25.895
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Rel. Yield vs Rate

Weighted linear regression
senn x¥?=3.93e+01

m=-2.30e-05, b=1.00e+00

Unweighted linear regression
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Q?=3.0,W=3.32
E=10.6 GeV

Pgyus = 3486

Oy s = 18.18

P, s = -6.590
O, s = 1191
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Weighted linear regression
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m=1.69e-04, b=9.97e-01
Unweighted linear regression
10p6lh2I11, P = -3.266
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8p2lh2I1, P = -5.745
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Weighted linear regression
x2=2.96e+02

m=7.37e-05, b=1.01e+00
Unweighted linear regression
10p6lh2I1, P = -3.266
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10p6lh2I2, P = -4.204
10p6lh2I2, P = -4.204
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